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1. ROBENZEIBLIL,

(1) 4x+2=-6
4x+2+(-2)= -6+ (-2)
4x = -8

4x+4=-8+4

x=-2

4) 2a+4=a-2
20+4+(-4)=a-2+(-4)

(2) -5x+2=-3

S5x+2+4+(-2)= -3+(-2)

-5x =-5

-5x+(-5) = =5+ (-5)

x=1

(5) ba+7=-2a+4
5a+ (2a)+7 = —2a+ (2a) +4

(B) 3x=-9
3x+3=-9+3
x=-3

(6) 24—3 =-9a+ 14
20-3+3)= -9 +14+ (3)

-20=a-6 a+7 =4 20 = -9a+17
20+ (-a)=a+(-a)—-6 70+7+(-7) =4+ (-7) 2a+9a) = —-9a+ (9a)+17
30 =-6 70 = -3 11a = 17
30+ (-3) = —6+(-3) 7a+7=-3+7 1la+11=17+11
a=2 3 17
a=-= a=—
7 11
(7) 3y+14=-2y-1 g 5 _ 10 (9) 16y —10 = —4y + 10
3y +14+(-14) = -2y — 1+ (-14) ® v=73 16y — 10 + (10) = — 4y + 10 + (10)
3y = -2y -15 6 5 6 10 16y = —4y + 20
3y+(Q2y) = -2y +Q2y) = - 15 XY T5% g 16y + (4y) = — 4y + (4y) + 20
oy = -15 y=4 20y = 20
S5y+5=-15+5 y=
y=-3
(10) 14x +25 = —20x — 43 2 14 5
14x + 25 + (=25) = —20x 43+ (~25) AV —z¥ == (12) —6x -5 =2
14x = -20x — 68 2 5 14 5 5
143+ (200) = —20x+(200) ~68 XX [_E] =% —6x=5+(5) =2 +()
34x = —68 _— 15
34x +34 = -68+34 - —6x = 5
-2
—6xX X [—=| = —X|-=
2 6
5
X =—=
4
1) x=-2 2) x=1 (3) x=-3
17
4) a=2 5 a=-- 6) 0 = —
(4) (5) (6) I
(7) y=-3 8) y=4 @) y=1
10) x = -2 11) x = -7 5
(10) x (11) x 1) x=-




